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Section 1 - General Aptitude English Subject

1) In the following question, four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses the
meaning of idiom/phrase.

The cricket match proved to be a big draw.

A) a keen contest

B) a huge attraction

C) a lovely spectacle

D) a game without any result

2) Synonym of flaunt

A) Deep
B) Deceive
C) Trust
D) Exhibit

3) Find out whether there is any error in any part of the
below sentence. If yes, indicate the correct answer among
the given options, else indicate "No error": The employees
take a break (1) / between 1 pm to 2 pm (2) / every day.
(3) No error (4)

A) 1
B) 2
C)3
D) 4

4) Rearrange these parts labelled A, B, C and D to make
a meaningful paragraph, and choose the most
appropriate answer.

A. As elephants trumpet, the high-frequency vibrations of
their massive vocal chords reach the ears of other
elephants within a mile.

B. This is especially useful in the jungle, where dense

vegetation rapidly degrades auditory information, though
not seismic cues.

C. A two-tiered communication model based on hearing
and feeling provides an effective way of sending messages
to nearby herd members as well as more distant rival
herds.

D. Remarkably, the low frequencies travel through the
ground to be picked up by the extremely sensitive feet of
elephants up to six miles away.

A) ADCB
B) ACDB
C) CDBA
D) CADB

5) Read the passage below and answer the question
that follows :

Harold a professional man who had worked in an office for
many years had a fearful dream. In it, he found himself in a
land where small slug-like animals with slimy tentacles lived
on people's bodies. The people tolerated the loathsome
creatures because after many years they grew into
elephants which then became the nation's system of
transport, carrying everyone wherever he wanted to go.
Harold suddenly realised that he himself was covered with
these things, and he woke upscreaming. In a vivid
sequence of pictures this dream dramatised for Harold
what he had never been able to put in to words; he saw
himself as letting society feed on his body in his early years
so that it would carry him when he retired. He later threw
off the "security bug" and took up freelance work.

Which one of the following phrases best helps to bring
out the precise meaning of 'loathsome creatures'?

A) Security bug and slimy tentacles

B) Fearful dream and slug-like animals
C) Slimy tentacles and slug-like animals
D) Slug-like animals and security bug
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Section 2 - General Aptitude

6) What does PNG stand for?

A) Portable Network Graphics
B) Processed Network Graphics
C) Personal Network Graphics
D) Picture Network Graphics

6) ‘ diuetslt * &1 quf &9 wia-ar § 2

A) diéae cad aihed
B) giaes Acad amithad
C) 9¥ere Fea® anftherd
D) Rierer dcad amitherd

7) Class B has 50% more students than class A. Number of
girls in class A is equal to number of boys in class B. The
percentage of girls is the same in both classes. What
percentage of the student group are boys?

A) 33.33%
B) 40%
C) 25%
D) 60%

7) T B H H&T A ¥ 50% 378 o1 § | HaT A &I
Tsfral i TEaT FET B & ISH T TEAT & R § |
el w3t 7 wsforal @1 gfawd @A § | o1 g &
frcer ufaerd o § :

A) 33.33%
B) 40%
C) 25%
D) 60%

8) Which among the following is not a government scheme
launched / implemented in India?

A) Mission Sagar

B) Ayushman Sahakar Scheme

C) Mission COVID Suraksha

D) One Nation One Identity Scheme

8) fAe=faf@d & & HlA-dr THRT AlotelT HRA A Y& T
IS/CATa] T TS AL §?

A) e aer

B) 3qsATe WEhR Areter
C) fereT Ffas gam

D) v g v gt At

9) In a certain code language

e ‘given time simple plan’ was written as ‘@E4
&N4 %N5 #E6'

e ‘tired solution plant great’ was written as ‘#N8
@D5 %T5 &T5

e ‘sick point good turn’ was written as ‘#K4 %D4
@N4 &T5

e ‘garden sister phone team’ was written as ‘&E5
#R6 %N6 @M4’

What will be the code for ‘plan’?

A) %N5H#E6
B) @E4
C) &N4
D) %N5

9) U fATad shlg HTOT A

e'given time simple plan’ I ‘QE4 &N4 %N5 #E6 &
O H @ g

etired solution plant great @ #N8 @D5 %T5 &T5 &
& H for@r g

e‘'sick point good turn’ @ #K4 %D4 @N4 &T5 & &I H
forararar g

e‘garden sister phone team’ @I ‘&E5 #R6 %N6 @M4’ &
A for@rmarg

‘plan’ HTAT I3 AT ghamT 2

A) %N5H#E6
B) @E4
C) &N4
D) %N5
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10) The following series is based on a specific pattern. Find
the next number in the pattern.
3,5, 10, 20, 37, ?

A) 68
B) 77
C) 78
D) 63

10) FfafEd s@em veh fafirse deat o) 3meriRa & | deat
H 37T AR T |

3,5, 10, 20, 37, ?

A) 68

B) 77

C)78

D) 63

11) Placing which of the following two digits at the right end
of 4530 makes the resultant six digit number divisible by
6,7 and 9?

A) 96
B) 78
C) 42
D) 54

11) fTFafaf@a & & @i - a1 ar 3% 4530 & g IR
WS ¥ IRUTH ©F 3 T &I 6,7 3 9 ¥ Ry
grardr g ?

A) 96
B) 78
C) 42
D) 54

12) A 270 metres long train running at the speed of 120
kmph crosses another train running in opposite direction at

the speed of 80 kmph in 9 seconds. What is the length of
the other train ?

A) 230 m
B) 240 m
C) 260 m
D) 320 m

12) 120 kmph &1 I1fd & ToaAdrell T 270 Hex el oA
80 kmph & afd & faulid feem # =eiarelr q@dl &of
F 9 Ahs H UX #Xc & | d gEd ¢T T wars Tl
grefr 2

A) 230 #rex
B) 240 #rex
C) 260 #Hrex
D) 320 #rex

13) The cost price of three varieties of oranges namely A, B
and C is Rs 20/kg, Rs 40/kg and Rs 50/kg. Find the selling
price of one kg of orange in which these three varieties of
oranges are mixed in the ratio of 2 : 3 : 5 such that there is
a net profit of 20%7?

A) Rs. 48

B) Rs. 48.6
C) Rs. 49.2
D) Rs. 49.8

13) §R & e fFEAT A, B 3R C &1 HT Hod HAW:
20 ¥9T /kg , 40 9T /kg 3 50 IUT /kg & | TH kg TR
& o Aea ad AT fGwd daX 1 5 e et
Hr 2:3:5 & U H 3H THR HIT S § R 20%
T [EY TS g ?

A) 48 TuT

B) 48.6 Tuv
C) 49.2 Tuw
D) 49.8 zuw

14) Headquarters of Organization of Petroleum Exporting
Countries (OPEC)

A) Jeddah, Saudi Arabia
B) Abu Dhabi, UAE

C) Paris, France

D) Vienna, Austria
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14) dafaad des qaf & WA #T HEATST FHgl
Taa g :

A) SiegT, T8 I
B) 3rq e, 7us

C) ofww, wiw

D) e, 3fifegar

15) Which of the following is/are true about BS Emission
Standards?

A) BS Emission Standards are based on the European
Emission Standards.

B) BS Emission Standards are government-instituted
emission standards.

C) BS Emission Standards are standards that all motor
vehicles have to comply with if they are to be sold and
driven in India.

D) All of the options.

15) §ITH 389 AR & aR H Aeafaf@d & & &ia-
T YT FET ¢ ?

A fltl IcHsd AlE  JUNT 3o AR W
amenfa §

B) fitw 3ol AR WHR caRT TARG  Scoiet
Al &

C) fivg 3caslT As UGT AF ¢ e gl Al
dgaAl H GTeled AT @il & A6 3e¢ ARG H &dr
3R garfera foRar e §

D) @sfr fasheq

16) J,K,L,M,N,O,P and R are eight huts. L is 2 km east of
K. Jis 1 km north of K and Q is 2 km south of J. P is 1 km
west of Q while M is 3 km east of P and O is 2 km north of
P. R is situated right in the middle of K and L while N is just
in the middle of Q and M.

Distance between K and P is

A) 1 km
B) 1.23 km

C) 1.41 km
D) 1.5 km

16) J,K,L,M,N,O,P 3IR R 36 aufsar § | L, K & 2 km
WEIlJ KFlkm3eaR # 8 3R Q, J F 2km
AT AT IP, QF LkmuRay A g sefF M, P &
3kmyd g 3 O, P F 2kmIcal A § IR, K3 L &
S Ay # YT E SEF N, Q3R M & &« Ay #H &
|

g K 3R P & dr & gt Rrastt gt :

A) 1 km
B) 1.23 km
C) 1.41 km
D) 1.5 km

17) A man went downstream for 28 km in a motor boat and
immediately returned. It took the man twice as long to
make the return trip. If the speed of the river flow were
twice as high, the trip downstream and back would take
672 minutes. Find the speed of the boat in still water and
the speed of the river flow.

A) 12 km/hr, 3 km/hr
B) 9 km/hr, 3 km/hr
C) 8 km/hr, 2 km/hr
D) 9 km/hr, 6 km/hr

17) Toh =gfFd HleX i # 28 km % URT & 3Helhoel
gel 3R T olle 3T | argd v ImEr A e A7
I FHY oE | I A8 & garg Al g JifHew
g, oY, 3eIvarg 3R aow S # 672 fAse  oed |

T I H aArg Fr afa 3R T F vyaw fr afa Ja
T ;

A) 12 km/hr, 3 km/hr
B) 9 km/hr, 3 km/hr
C) 8 km/hr, 2 km/hr
D) 9 km/hr, 6 km/hr
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18) Who was the first woman to have won the highest

Civilian Award in India?

A) Indira Gandhi
B) Anna Chandy
C) Sarojini Naidu
D) Capt. Laxmi Sehgal

18) 1R # Fdfed ANTRE [WEHR SHcdrel Tgel Afgelm

FleT A 2

A) gfexr el

B) 31ear =gy

C) wafeet g

D) et wesly Hegarer

19) What day of the week was year 100 A.D December

31st?

A) Sunday

B) Wednesday
C) Friday

D) Saturday

19) 31 R@sR 100 T.3A. & TTAg T didA-ar feoT ar 2

A) far
B) qerar
C) ypar
D) erfar

20) At a crossing, there was a direction pole, which was
showing all the four correct directions. But due to the wind,
it turns in such a manner that now West pointer is showing
South. Harish went in the wrong direction thinking that he

was travelling East. In what direction he was actually
travelling?

A) South
B) North
C) West
D) East

20) T TIRTE WX TH foom TAH o1, S IRT fgemsit &t
St & T W1 | AfKA gaT & FROUT Ig W Re A
ST & o 319 aiRas gee ®l eI SHd a @1 & |
gl IE e deld feur # =or I fh 98 qd @

IJET Y @I & | 98 akdd A FE g & I & @I
oqr ?

A) efaror
B) 3eat
C) gfees
D) o
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Section 3 - Mechanical

21) In blanking operation, the clearance provided is:

A) 50% on punch and 50% on die
B) On die
C) On punch

D) On die or punch depending upon the designer’s choice

21) T oueT gfshar & PRl g ) vere [Far Srar §

A) 50% Besh 9T 3R 50% T W
B) @iy w
C) B

D) 31ffisrous & [Qded & IYUR W T W AT B
°r

22) Thermal Power plants use the cycle known as

A) Otto

B) Carnot

C) Brayton
D) Rankine

22) A UfFd a7 g T IR H1H AT §

A) 3ifaY
B) Frife
C) gea
D) ¥frer

23) Due to aging of pipeline, its carrying capacity has
decreased by 25%. The corresponding increase in the
Darcy Weisbach Friction Factor f is ----%.

A) 21%
B) 45%
C) 6.6%
D) 77%

Page60f15

23) UISY ST & HId YHIAT & HRUT SHDI dged &THdT

H 25% &7 Fely T &, O, st awers =¥t RS P
# ot gefr fhaar wfderd ghem ¢

A) 21%
B) 45%
C) 6.6%
D) 77%

24) All of the following are cold working processes except

A) Slitting
B) Blanking
C) Extrusion
D) Lancing

24) frafaf@d # & Fa- wF raca w07 gfFar 6
g

A) aErfgor
B) &gt
C) sfgdferer
D) J¥feer

25) Process of inducing carbon to low carbon steel to get a
hard surface, is known as

A) Carburising

B) Cyaniding

C) Nitriding

D) Flame hardening
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25) Tl HORIAIUT HidT HIeel & AR H Bl e
HIeel T H olel T TThdT T FAT Hgl Sl §

A) FrdeTearasT
B) srgemsfEar
C) srserefear
D) safar svarleor

26) Young’s Modulus of elasticity for a perfectly rigid body
is

A) Zero

B) Unity

C) Infinity

D) Some finite non zero constant

26) EYOT: T fe *fow F7 goaewdr AiE @
grem -

A) g
B) w&
C) 3
D) 5 aftfia I 7o e

27) Knocking tendency in spark ignition engines may be
decreased by

A) Reducing the compression ratio

B) Controlling the air-fuel mixture

C) Controlling the ignition timing

D) Controlling the exhaust temperature

27) T% Yodod Fote H aAlferdr Sgfa fhass qanrr &
fRar ST gehar §

A) FditseT a7 FY

B) ary Suret fsror #F foyior
C) ysaere & gy & Ag=or
D) era dr9aeT & fAg=or

28) The barometer of a mountain hiker reads 930 mbars at
the beginning of a hiking trip and 780 mbars at the end.
Neglecting the effect of altitude on local gravitational
acceleration, determine the approximate vertical distance
climbed. Assume an average air density of 1.0 kg/m3.

A) 1500 m
B) 1.5m
C) 1500 km
D) 750 m

28) Teh YRG! &l SRHICT ofdll Yeol AT T Qo3 &
930 mbars 3 37T & 780 mbars @mEar & | Uy
Tecdld U1 T FETS & G HT SUET W §U, WSy
TS AT FeateR gt &1 fAeRer & | 1.0 kg/m3
3 arg Gefeq HT AT o |

A) 1500 m
B) 1.5 m
C) 1500 km
D) 750 m

29) A stoichiometric air-fuel ratio is

A) Lean mixture

B) Rich mixture for idling

C) Chemically correct mixture
D) Rich mixture for over loads

29) TISHIARLH arg SUA 3T Hil-AT &

A) gger fasor

B) fafShaar sy s

C) waraafra Rsmor

D) #fay 1R e ey s
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30) A hydraulic power station has the following major items
in the hydraulic circuit:

(1)Draft Tube
(2)Runner
(3)Guide Wheel
(4)Penstock

(5)Scrol case

The correct sequence of these items in the direction of flow
is:

A) 42315
B) 4,3,2,5,1

C) 123,54
D) 1,3,2,4,5

30) T gadifed Afdd &g & gadiiad gROy A
frafafEa wre ol @ §

(1)groe g«

2T

(3)IMss Tsh

(4)9=TEeiR

(5)EhTe HH

garg Fr feom & s AAAT FT T HA FAT g

A) 42315
B) 4,3,2,5,1
C)1,2,3,54
D) 1,3,2,4,5

31) A flow is called super-sonic if the

A) Mach number is >1

B) Velocity of flow is very high

C) Discharge is difficult to measure
D) None of these

31) YATg I Wredfieh e gl ofidl &

A) ofg A% dear >1 g &

B) warg & 397 wga 310w @ §
C)ﬁégﬁaﬁmﬂmﬂﬁam%

D) #r$ fasreq a7t

32) The condition of refrigerant after passing through the
condenser in a vapour compression system is

A) Saturated liquid

B) Wet vapour

C) Dry saturated vapour
D) Superheated vapour

32) Us g Hise Yolell & Hofedd & oRa & g
weftaes & fPufa Far g § -

A) siqe g
B) &er arsq
©) o Hqea A
D) sifaarfad arsq

33) The line, above which the alloy is in liquid state and
where the solidification starts, is known as

A) Liquidus

B) Solidus

C) Gaseous

D) None of the options
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33) 98 W@, oS 3 Mg g saear & g § 3R 36) In order to produce bending and shear stresses of

. ) equal magnitudes at the extreme fibres of a circular cross-
STET @ TETA [ T &, 38 FAT Fgl A ¢ section under the action of combined bending and torsion
the ratio of bending to twisting moments must be

A) fafFasa
8) A) Y4
SUBER] B) %
C) i 01
D) #1& faseq 8 D)2
34) Cast iron is manufactured in 36) 9% ﬁh ; F R . 3
IIEY HIC & TWH a3l W FA IRATT & dehel AR
A) Blast Furnace ITEIUT fATd 3cUeed el HfAU Fhel AR TS HT
B) Open hearth furnace AT a2 afRu
C) Cupola 2
D) Bessemer Converter INEZ
B) %
‘ ‘ C)1
34) gorar el fhad JA T ST § D) 2
A) arcar sl
B) T T 5 37) Head developed by a centrifugal pump is
C) grer

A) Proportional to diameter of impeller
D) 39 e B) Proportional to speed of impeller

C) Proportional to diameter and speed of impeller
D) None of the options
35) Which of the following is a casting defect?

A) Warm tear

B) Cold tear

C) Hot tear

D) All the options

37) HYHAT 9T & GaRT 3ot AW

A) yoliea =ama & FHATIATT
B) yuiteer a1fey % FATSarAT
C) goies o 3R a1fa @t & FATEITR

35) folet & @ e gegerma wie-ar § 2 D) 71 fasred a7t
A) 30T IR
B) 38) A nuclear reactor is said to be “critical” when the
JAded &N neutron population in the reactor core is:
C) aea &R
A) Rapidly increasing leading to the point of explosion
D) @sfr oy

B) Decreasing from the specified value
C) Constant

D) Reduced to zero
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38) Ush WA RUF & ‘HAgcaqol &gl el &, oI«

Ruerer w0 7 gl wAfee ... grar &

A) A F Fear ¥ S Rede & Rig 91 AT 3o ¥
B) Rifése A & wear &

C) reeris

D) e # wear &

39) The holding power of a saddle key is mainly due to

A) Shear force

B) Tensile force
C) Torsional force
D) Friction Force

39) FIET FHoft T URVT AP FHEaAd: FFadh FROT gl §

A) ITRTUT T
B) o= 9
C) Mz &t
D) er§or wer

40) A piezometer and a Pitot tube are tapped into a 3-cm-
diameter horizontal water pipe, and the height of the water
columns are measured to be 20 cm in the piezometer and
65 cm in the Pitot tube (both measured from the top

surface of the pipe). Determine the velocity at the centre of
the pipe. Assume g =10 m/s?

A) 10
B) 20
C) 30
D) 3

40) Th YreiHeT 3R Ml g A 3 - cm - SFrEaT
Sifasr gl & ursy F oo ST §, 3R 9eh & et
& Fars A # 20 cm 3R M Tgg # 65 cm
(@ UIsT I IR Tdg F AU IS) A ST § | 98T
& e & a1 ARG A | g =10 m/s2 FT IFAT o |

A) 10
B) 20
C) 30
D) 3

41) The flow in which the velocity vector is identical in

magnitude and direction at every point, for any given
instant, is known as

A) One dimensional flow
B) Uniform flow

C) Steady flow

D) Turbulent flow

41) 9g yarg oaH, Ry off ju arv efor Wy, 1fa fese,

gcdeh fdg W aR@AT 3R feem & @A g B, 59 e
H T Fae § H AT AT ¢

A) T T garg
B) gesy yarg
C) 2R ware
D) 3reri warg

42) Tensile strength of a mild steel specimen can be
roughly predicted from following hardness test

A) Brinell

B) Rockwell

C) Vickers

D) None of the options
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42) Th Gooh I & FAHA HI TedT S B AT
fhe HoRdT TETOT @ ST ST Hehell &

A) o
B) feraar
C) =y
D) 1§ fasved A&t

43) Closed cycle gas turbine works on

A) Joule cycle

B) Carnot cycle
C) Rankine cycle
D) Ericsson cycle

43) §¢ T I ESAT fFg W FT AT § -

A) St T

B) reife aw
C) ¥fhet ok
D) eReraar @k

44) In reciprocating engines, primary forces

A) Are completely balanced

B) Are partially balanced

C) Are balanced by secondary forces
D) Cannot be balanced

44) TETHT ST 7 SrafAE S ST ger

A) qof w9 & Fqfad 81 §

B) 31 7 & dgford g1

C) gfacas et garT dqfea fre s &
D)ﬁ@ﬁr—rﬂﬁmmm

Pagellofl5

45) Diesel cycle consists of processes

A) Two constant volume and two isentropic

B) One constant pressure, one constant volume and two
isentropic

C) Two constant pressure and two isentropic
D) Two constant volume and two isothermal

45) 3r3TeT Tk H HiA-AT UfhATT g §

A) g1 3aRadt 3made 3R g 3T e

B) v 3uftadl @ , we aRadt 3maaa 3R e
3msdcifus

C) ar 3rafadt g 3k & arsdafe
D) & 3raRadt 3maae 3R & sreardt

46) According to Dalton's law of partial pressures,
(where pp = Barometric pressure, pa= Partial pressure of
dry air, and py = Partial pressure of water vapour)

A) Po = Pa - pv
B) po=pa+py
C) po = pax pv
D) po = pa/py

46) STecal HT HRF o FAA F WA, (& ps =

KA a9, pa= Yok gar H HifAF @@ IR p, = ST
S FHT 7S gre)

A) Pb = Pa - pv
B) po = pa + pv
C) po = paX pv

D) po = pa/py
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47) The property of a material which enables it to resist

fracture due to high impact loads is known as

A) Elasticity
B) Endurance
C) Strength
D) Toughness

47) erd & g8 IUUHA S S 3T GHME HR & HROT
R & AV aa # GaTH Farar &, 38 T Fel Sl §

A) gearedar
B) feerar
C) Frore
D) zear

48) Pig Iron refined in Cupola produces

A) Cast Iron

B) Wrought Iron

C) Steel

D) None of the options

48) Furell A ARSHd Fedl SeT FAT Seured LT ¢

A) gerat st

B) feat wrer
C)&a

D) 3¢ Rawed @

49) In the case of a beam supported at both ends, if the
same load instead of being concentrated at centre is

distributed uniformly throughout the length, then deflection
in the centre will get reduced:

A) Y2 times
B) Y times
C) 3/8 times
D) 5/8 times

49) a1 AT W 3meifead W T & A A, I Fg
W Hd & & ToNT FAW AR I8 98 F TAT &7

O fadRa fhar Sirar g, a1, de A fAeior fhder = wa
g1 STuaT

A) 15 3T
B) v, apar
C) 3/8 I
D) 5/8 agar

50) Which of the following statement is wrong?

A) The heat transfer in liquid and gases takes place
according to convection

B) The amount of heat flow through a body is dependent
upon the material of the body

C) The thermal conductivity of solid metals increases with
rise in temperature

D) Logarithmic mean temperature difference is not equal
to the arithmetic mean temperature difference

50) fAeafaf@a & & Fia-ar a1 eq § 2

A) geg 3R At F FSAT FT TATAGROT Hagd F AR
gar §

B) v e & #ATead § FSAT yaE H AET He &
ey W AR e

C) rw a3t r i aresar aaAe # gef F
Jecr &

D) oTEdIUTsh  HTET  dATIHTS IR AR AT J9HATT

HoR & &Y A8 g &

51) A pitot tube is used to measure the velocity at a certain
point in a water pipe. The differential pressure noted across
pitot tappings is 1.962 kg/cm?2. The velocity of water in pipe

is:
A) 1.962 m/s
B) 19.62 m/s

C) 9.81 m/s
D) 4.905 m/s
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51) Uit & uisy A U AfR¥d g W aw & A
Hfow e Wele cgg & 3uAer Far orar § 1 e
ST & sic fohar s=r Ades gard 1.962 kgicm2 § |
89 H YTl T 99T fohdelT &9 :

A) 1.962 m/s
B) 19.62 m/s
C) 9.81 m/s

D) 4.905 m/s

52) A centrifugal pump delivers 1000 litres per minute (Ipm)
at 2000 rpm against a total dynamic head of 50m and
requires 32bhp for its operations. If the speed is reduced to

1000 rpm, the discharge, head developed and bhp required
will be

A) 500 Ipm, 12.5 m, 4bhp
B) 500 Ipm, 25m, 16 bhp
C) 500 Ipm, 12.5m, 8bhp
D) 500 Ipm, 25m, 8bhp

52) Teh 39ehe I 99 50 m & For AN o fazeer 2000 rpm W
gfar fAde 1000eex faaRa axar g 3R s Tare Hfew 32
bhp T 3TaRTRAT &l & | Ife 1T Y 1000 rpm T HH FT
fear Sirar &, Y, fdee, fasfaa o 3R 3maféra bhp frder
8T

A) 500 Ipm, 12.5 m, 4bhp
B) 500 Ipm, 25m, 16 bhp
C) 500 Ipm, 12.5m, 8bhp
D) 500 Ipm, 25m, 8bhp

53) The product of one of the two forces of a Couple and

the perpendicular distance between their lines of action is
called

A) Moment of the couple
B) Resultant couple
C) Moment of the forces
D) Resulting couple

53) T ¥ogeA & & i A ¥ TH & R AR
3eTht Toham @3 & o T olead gl 1 FAT Sl STl
g

A) worger et
B) wigor dergea
C)a;rrq\u‘r

D) aftomet aergest

54) In Arc Welding, Open Circuit Voltage is in the range of

A) 18-35 Volts
B) 40-95 Volts
C) 100-140 Volts
D) 145- 200 Volts

54) 3 afesar #, ol IRUY dleesT &1 AW HeAfaf@d
A @ &1 gem

A) 18-35 aTee
B) 40-95 aree
C) 100-140 aree
D) 145- 200 aree

55) A steel rod of 1 sg. cm cross sectional area is 100 cm
long and has a Young's modulus of elasticity 2x108
kgflcm2. It is subjected to an axial pull of 2000 kgf. The
elongation of the rod will be:

A) 0.05cm
B) 0.10 cm
C) 0.15cm
D) 0.20 cm

Pagel130f15



Setld :73947_4 12-12-2021 B2 LIVE 12DEC2021 Mechanical Set2

55) 1 sg. cm 37UEY FIE &Ahd & Th T o5 100 D)Wﬁmma@ré&m

cm WeT g 3R SHST FIT YoAreddr Adieh  2x106 kgf/cm?
g | T 2000 kof & 3refw g & 3T & | ©5 &
SEROT fRaeT . 58) In jet engines, for the efficient production of large
e B power, fuel is burnt in an atmosphere of
A) 0.05cm A) Vacuum
B) 0.10 cm B) Atmospheric air
C)0.15cm C) Compressed air
D) 0.20 cm

D) Oxygen alone

56) A Vibration in which the element moves to and fro in a . ‘ = YT R
direction perpendicular to the direction of the advance of 58) S Sl H TSI 2 F &7 3cdres

the wave ardTaReT # U ST ST ¥

A) Torsional vibrations

A) fata
B) Longitudinal vibrations B )
C) Transverse vibrations )a T ST g
D) All the options C) gfzq gar
D) & 3ifereirster

56) Ush &U«l [TGH ded, a7 & 36T daa Hr fgem &
wgad feem & IH-TITH BT §, 38 FIT Fgd © .

59) A reversible engine has ideal thermal efficiency of 30%.
When it is used as a refrigerating machine with all other

A) T FusT gonditions unchanged, the coefficient of performance will
e
B) 3T e
C) reqaeer e A) 3.33
> B) 3.00
D) gefr faamed C)2.33
D) 1.33

57) According to Stefan Boltzmann law, ideal radiators emit
radiant energy at a rate proportional to

59) Ueh 9fdadl ST & 30% Hr ey ardy efHar g

A) Absolute temperature ¢ | 59 0 geliae Al & §7 A 3uANT AT S g,
B) Square of temperature Saa 3w Faft ord smRafaa war &1, fosuea &
C) Fourth power of temperature W eI 19 :
D) Fourth power of absolute temperature

A) 3.33

B) 3.00
57) ¥l SleotAle & TR & AR, el WA & C) 2.33
fore FATEUT X @ fafor 3o scafoid #vd § D) 1.33

A) 9T aTgATT
B) qet arqamer

C) arawreT 1 gy T
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60) In a closed cycle gas turbine, the air is compressed

A) Isothermally
B) Polytropically
C) Isentropically
D) None of the options

60) Teh §¢ deh I cXETSA H, gaT had AdfSd giar ¢ -

A) gaard
B) e
C) garetdy
D) 1§ fepoq 18

Pagel150f15




Answer KEY:- Mechanical_B4

Question No. Answer Question No. Answer Question No. Answer
1 B 21 C 41 B
2 D 22 D 42 A
3 B 23 D 43 A
4 A 24 C 44 B
5 C 25 A 45 B
6 A 26 C 46 B
7 B 27 A 47 D
8 D 28 A 48 A
9 C 29 C 49 C
10 D 30 B 50 C
11 A 31 A 51 B
12 A 32 A 52 A
13 C 33 A 53 A
14 D 34 C 54 B
15 D 35 C 55 B
16 C 36 B 56 C
17 B 37 C 57 D
18 A 38 C 58 C
19 C 39 D 59 C
20 B 40 D 60 C







